
















x2ty2 Ex 143 483
at 3 2 9 g 7

2
49 483

sets t g 2,5 541

centre C 3,7

i E

D x c Cg 35 45

Meets X axis when y 0

x c o 3 2 45
x c t te 45
x 1 2 36
x l IG
x IG t i

se 7 or x 5

Meets x axis af 7,0 and C 5,0

3 y xt4 x 3 y 55 34

Find points of intersection A and B

Sub for g in circle
x 35T xtc 55 34
x 35 t x c 34

Exercise 6C Q12

Exercise 6D



x 9 Gx 1 x't 1 2x 34
2 2 82C 24 0

I Ix 12 O

K 2 x 67 0

Either 2 2 0 or x 6 0

x 2 x 1 6

y a 2 4 y 1 6 4

g 12 y 5 10

Af 2,2 B 6,10

Q5 x g 10 0 act 4 5 21
c 10 9 Sos for g in circle

22 ax Cx W 21
Xt da t L't 100 20 I 21

2 T 24 79 0

Discriminant b Gac

C 24 4 2 79

526 632

56 O

no real roofs

no points of intersection

FINISH FORExercise GD Q Z Q G 8 O 12 Homework



2 x 2 t g 35 29
Meets g axis when 2 0

o 2 t yt 35 29

4 t gt3 29

gt3 25

3 3 Is

3 1 5 3

1 2 or y 8

Meets ye axis at 0,2 and 0 8

4 Xty 5 0 22 6 5 103 31 0

y x 5 Sub for gin circle

Gx c C a 5 7 Iota 5 31 0
22 6 221 25 10 50 31 0

2 2 6 56 0
2 3 28 0

x 7 x 4 TO

x 7 or x 4

y 2 5 3 4 5
y 2 ye 9

7,2 and 4 9



6 set y It x t y 35 32
x 11 y sub for in circle

11 g t s 35 32

121 22g 1 5 5 Coyt9 32

25 28 1 98 0

y2 lay t 49 0

g 7 g 7 to

9 7
only one point
of intersection
4,7

8 x yea x pit y 65 20

Meet at 3 co 3 co is both line and circle

3 10 a a 13

3 p 2t co G
2

20

3 p t 16 20

3 p

3 p I 2

31 2 p p 5
or p I



10 y Kx x
Z 10x y 12g 57 0

Sub for y in circle

10x K 124 1 57 0

1 5 2 C co 12K x 1 57 0

For 2 distinct roots b2 Ccac O

C co 12K 4 tk x 57 O

to O t 144152 240K 228 228 LT O

84 K2 240K 128 o

21 K2 t 60K 32 o

2C K2 60K 1 32 0

IT 2 1.5
IT so 71

O 71 L K L 2 is
one

22 y 2 5 K2 Kx y2 4
Sub for y in circle

K t ka t 2 572 4
2 thx t 4 21 20 25 4
5 2

t 2otk x 1 21 0

For one point of intersection b Z Aaa to

20 4 4 5 21 TO

20 4 5420
2 Ott If 420 I 2555

IT 20 I 2555


